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Parts of a question must be answered together.

?v. Perform the preorder and Inorder traversal of the following vEmQ iee
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Consider the following circular queue which is capable of accommodating M

6 elements.
Front = 2 Rear = 4

Queve: —, — LMN,

Describe the statys of the queue as the following Operations take place
() Add 0P
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‘Mention whether True/False

D Queue works on the principle of FIFO. | -

(i) Efficiency of Binary Search algorithm is log(n). 7 -

(i) Recurssion is a process in which a problem is defined in terms of itself.

~

) g doubly linked list the two pointers in a node point to the first and last node

of the linked list, F

. \ i e wa
\‘ ™ 1y a'tree, nodes are arranged in hierarchical order and so there is only one way
(i) Delete Two,elements A E‘ ”] - A [ ] {g . _ Aff ]
f W 7 i\ L | M which these nodes can be tranversed.
R 31«;-:\10 Cﬂ L N ) _ . ferable to
| List ! L .- sons why stack would be pre
Wo applications of stacks. Give rea y
: ) A :
(") -Delete one clemepy, g, >
2. |
(c) Convert the foll & R_ (q) . . ‘
OWing infix x 120" | W - : a2 5
CXpression to postfix EXpression, Show the status Of fh e a Program in C++ to sort a list of numbers using Bubble s
at each step 4 (b) gy
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"Mpare the two implementations of stack i.e. the array implementation
A AR« i : 3
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(© () Which one of the trees given below is a valid Binary search tr¢

one is not.
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() Write 4 Program to accomplish the following stack operations :
()  PUSH
(@)  POP

(@) Is empyy

() Is fuyr

) Show the States of the stack at each step  while evaluating the given post fix

' 5
“XPression :
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(8) Write 5 Program to find the ‘desirec‘I elem_ent inan aﬁay using binary search. Is it efficient
o *®Quentia] searchy 7 | PR
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: 15 a prioy Ity queue ? Which data structure is more efficient fgr doing insertion and
eletion in thig queue '7 | | ) 3
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the Postorder traversal of the tree ?
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allocateq queue Containing nodeg of the following Biven structure :

Struct NODE
{intitemn;
Char itemname[lﬂ];

NODE = next;
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Xpression Using a stack. |




